

1. CLAIM:  $X \setminus \bigcup_{i \in I} X_i = \bigcap_{i \in I} (X \setminus X_i)$  (i.e.,  $x \in \dots \Leftrightarrow x \in \dots$ )

PROOF:  $x \in X \setminus \bigcup_{i \in I} X_i \stackrel{\text{DEF}}{\Leftrightarrow} x \in X \text{ AND } x \notin \bigcup_{i \in I} X_i$   
 $\Leftrightarrow x \in X \text{ AND NOT } (x \in \bigcup_{i \in I} X_i)$   $\downarrow$  DEF OF  $\cup$   
 $\Leftrightarrow x \in X \text{ AND NOT } (\exists i \in I \text{ WITH } x \in X_i)$   $\downarrow$  NOT OF  $\exists$   
 $\Leftrightarrow x \in X \text{ AND } (\forall i \in I, x \notin X_i)$   $\downarrow$  DISTRIBUTE  
 $\Leftrightarrow \forall i \in I, (x \in X \text{ AND } x \notin X_i)$   
 $\Leftrightarrow \forall i \in I, x \in X \setminus X_i$   $\downarrow$  DEF OF  $\setminus$   
 $\Leftrightarrow x \in \bigcap_{i \in I} (X \setminus X_i)$   $\blacksquare$   $\downarrow$  DEF OF  $\cap$

CLAIM:  $X \setminus \bigcap_{i \in I} X_i = \bigcup_{i \in I} (X \setminus X_i)$  (i.e.,  $x \in \dots \Leftrightarrow x \in \dots$ )

PROOF:  $x \in X \setminus \bigcap_{i \in I} X_i \stackrel{\text{DEF}}{\Leftrightarrow} x \in X \text{ AND } x \notin \bigcap_{i \in I} X_i$   
 $\Leftrightarrow x \in X \text{ AND NOT } (x \in \bigcap_{i \in I} X_i)$   $\downarrow$  DEF OF  $\cap$   
 $\Leftrightarrow x \in X \text{ AND NOT } (\forall i \in I, x \in X_i)$   $\downarrow$  NOT OF  $\forall$   
 $\Leftrightarrow x \in X \text{ AND } (\exists i \in I \text{ WITH } x \notin X_i)$   
 $\Leftrightarrow \exists i \in I \text{ WITH } (x \in X \text{ AND } x \notin X_i)$   $\downarrow$  DISTRIBUTE  
 $\Leftrightarrow \exists i \in I \text{ WITH } x \in X \setminus X_i$   $\downarrow$  DEF OF  $\setminus$   
 $\Leftrightarrow x \in \bigcup_{i \in I} (X \setminus X_i)$   $\blacksquare$   $\downarrow$  DEF OF  $\cup$

2. CLAIM:  $f^{-1}[\bigcup_{i \in I} X_i] = \bigcup_{i \in I} f^{-1}[X_i]$  (i.e.,  $x \in \dots \Leftrightarrow x \in \dots$ )

PROOF:  $x \in f^{-1}[\bigcup_{i \in I} X_i] \Leftrightarrow f(x) \in \bigcup_{i \in I} X_i$   
 $\Leftrightarrow \exists i \in I \text{ WITH } f(x) \in X_i$   
 $\Leftrightarrow \exists i \in I \text{ WITH } x \in f^{-1}[X_i]$   
 $\Leftrightarrow x \in \bigcup_{i \in I} f^{-1}[X_i]$   $\blacksquare$

CLAIM:  $f^{-1}[\bigcap_{i \in I} X_i] = \bigcap_{i \in I} f^{-1}[X_i]$  (i.e.,  $x \in \dots \Leftrightarrow x \in \dots$ )

PROOF:  $x \in f^{-1}[\bigcap_{i \in I} X_i] \Leftrightarrow f(x) \in \bigcap_{i \in I} X_i$   
 $\Leftrightarrow \forall i \in I, f(x) \in X_i$   
 $\Leftrightarrow \forall i \in I, x \in f^{-1}[X_i]$   
 $\Leftrightarrow x \in \bigcap_{i \in I} f^{-1}[X_i]$   $\blacksquare$